Bid Results: STUDENT School Bus Transportation, 2020

	Eastern Bus Co.			
ITEM	UNIT PRICE Extended Amount			
BASE BID PRICE FOR YEAR 1	\$449.00	\$2,424,600.00		
BASE BID PRICE FOR YEAR 2	\$459.00	\$2,478,600.00		
BASE BID PRICE FOR YEAR 3	\$469.00	\$2,532,600.00		
3	YEAR TOTAL	\$7,435,800.00		

-					
North A	North American Central School Bus				
UNIT	Extended Amount				
PRICE	Extended Amount				
\$517.27	\$2,793,258.00				
\$531.49	\$2,870,046.00				
\$546.11	\$2,948,994.00				
	\$8,612,298.00				

Date: March 4th, 2020

OPTIONAL PRICE FOR YEAR 4	\$ 484.00	\$2,613,600.00
OPTIONAL PRICE FOR YEAR 5	\$ 499.00	\$2,694,600.00

\$ 562.49	\$3,037,464.00
\$ 579.37	\$3,128,588.00

ALTERNATE B - BUS MONITORS

Rate per hour (Fixed for 5 years) \$40.00

\$42.85

Bid Results: EXTRA CURRICULAR School Bus Transportation, 2020

	Eastern Bus Co.
ITEM	AMOUNT
ATHLETIC/ FIELD TRIP	\$278,960.00
TRANSPORATION	3278,380.00
ALTERNATE-HOURLY RATE	\$120.00

North American Central School Bus
AMOUNT
NO BID
NO BID

This information is provided only as a record of the offers made by the respective companies. No inference should be made as to the award or rejection of offers.

Eastern Bus Co. Extra-Cirricular School Bus Bid as of 3/4/20

Acton, MA Actor-Bouborough HS, Abhetic Facilities \$440,00 20 \$8,00,00 Acton, MA Childrens Discovery Museum \$440,00 3 \$1,320,00 Ardover, MA Androver MS Androver MS \$440,00 2 \$580,00 Ardington, AM Androver MS Andrigon Carbotics MS \$440,00 2 \$580,00 Bedford, MA Honcom Medide School - Antroles \$440,00 2 \$580,00 Berlins, MA Berlord, MA Berlins MS \$440,00 5 \$2,200,00 Berlins, MA Berlin Orchard \$440,00 2 \$580,00 2 Berlins, MA Berlin Orchard \$440,00 2 \$400,00 2 Berlins, MA Berlins, MA Berlins, MS \$440,00 2 \$400,00 Bierica, JM Berlins, MA Berlins, MS \$400,00 2 \$400,00 Bierica, JM Berlins, MA Berlins, MS \$400,00 2 \$400,00 Bierica, JM Berlins, MS \$400,00 2 \$400,00	City/Town	Facility	Rate/Trip	# of Trips	Total Cost
Andower MA	Acton, MA	Acton-Boxborough H.S. Athletic Facilities	\$440.00		\$8,800.00
Alington, MA Alington & Arlington Carbolic H. S. Arbietic Facilities Sandron, MA Bedford H. & Bedford H. & Arbietic Facilities Sandron, MA Bedford H. & Arbietic Facilities Sandron, MA Bedford H. & Arbietic Facilities Sandron, MA Bedford H. & School - Arbietics Sandron Grade Sandron MA Berlin, MA Berlin Orchard Sandron Orchard Sandron MA Berlin School - Arbietics Sandron MA Sandron MA Sandron MA Berlin MA Sandron MA Berlin MA Berlin School - Arbietics Sandron MA Berlin MA Berlin MA Berlin MA Berlin School - Arbietics Sandron MA Berlin MA B	Acton, MA	Childrens' Discovery Museum	\$440.00	3	\$1,320.00
Bedford, MA	Andover, MA	Andover H.S. Athletic Facilities/Show Choir	\$440.00	2	\$880.00
Bedford, MA	Arlington, MA	Arlington & Arlington Catholic H. S. Athletic Facilities	\$440.00	2	\$880.00
Bedford, MA	Bedford, MA	Bedford H.S.Athletic Facilities		25	\$11,000.00
Belmont MA	Bedford, MA	Hanscom Middle School - Athletics	\$440.00	5	
Behmont, MA	Belmont, MA	Belmont H.S. Athletic Facilities	\$440.00	10	\$4,400.00
Seventy MA	Belmont, MA	Chenery Middle School Athletic Facilities	\$440.00	2	1
Billerica, MA	Berlin, MA	Berlin Orchard	\$440.00	3	\$1,320.00
Beston, MA	Beverly, MA	Beverly High School -Athletics	\$440.00	1	\$440.00
Boston, MA	Billerica, MA	Billerica H.S. Athletic Facilities	\$440.00	2	\$880.00
Boston, MA	Boston, MA	Berkely Performance Center	\$440.00	TBD	TBD
Boston, MA	Boston, MA	Boston Children's Museum	\$440.00	1	\$440.00
Boston, MA	Boston, MA	Boston Latin High School	\$440.00	4	\$1,760.00
Boston, MA	Boston, MA	Boston Latin School Athletic Facilities	\$440.00	21	\$9,240.00
Boston, MA	Boston, MA	Boston Public Garden Swan Boats	\$440.00	4	
Boston, MA Boston University, Athletic Facilities \$440,00 3 \$1,320,00 Boston, MA Castle Island \$440,00 1 \$440,00 Boston, MA Daisy Field - Athletics \$440,00 2 \$880,00 Boston, MA Deloitte Company, Dartmouth St \$440,00 TBD TBD Boston, MA Faneul Hall \$440,00 TBD TBD Boston, MA Federal Reserve \$440,00 TBD TBD Boston, MA Fenway Park \$440,00 TBD TBD Boston, MA Freedom Trail. \$400,00 TBD TBD Boston, MA Freedom Trail. Bunker Hill, USS Constitution \$440,00 TBD TBD Boston, MA Freedom Trail. Bunker Hill, USS Constitution \$440,00 TBD TBD Boston, MA Freedom Trail. Bunker Hill, USS Constitution \$440,00 TBD TBD Boston, MA Institute of Contemporary Art \$440,00 TBD TBD Boston, MA Model UN \$440,00 \$40,00 TBD	Boston, MA	Boston Tea Party Ships & Museum	<u> </u>	2	
Boston, MA Castle Island \$440,00 1 \$440,00 Boston, MA Daisy Field - Althelics \$440,00 2 \$880,00 Boston, MA Deloite Company, Dartmouth St \$440,00 TBD TBD Boston, MA Federal Reserve \$440,00 TBD TBD Boston, MA Federal Reserve \$440,00 4 \$1,760,00 Boston, MA Feredom Trail \$440,00 TBD TBD Boston, MA Freedom Trail \$440,00 TBD TBD City/Town Facility Ratering # of Trips Boston, MA Freedom Trail, Bunker Hill, USS Constitution \$440,00 TBD TBD Boston, MA Freedom Trail, Bunker Hill, USS Constitution \$440,00 TBD TBD Boston, MA Institute of Contemporary Art \$440,00 TBD TBD Boston, MA Mathews Arena - Athletics \$440,00 \$ \$2,200,00 Boston, MA Matthews Arena - Athletics \$440,00 \$ \$440,00 Boston, MA Millenium Park -	Boston, MA	Boston University, Athletic Facilities		3	\$1.320.00
Boston, MA	Boston, MA	Castle Island			
Boston, MA	Boston, MA	Daisy Field - Athletics		2	
Boston, MA	Boston, MA	•		TBD	
Boston, MA				TBD	TBD
Boston, MA		Federal Reserve			
Boston, MA		Fenway Park		4	\$1,760.00
City/Town Facility Rate/Trip Trips # of Trips Total Cost Trips Boston, MA Freedom Trail, Bunker Hill, USS Constitution \$440,00 TBD TBD Boston, MA Institute of Contemporary Art \$440,00 TBD TBD Boston, MA Logan Airport - Round Trip \$440,00 1 \$440,00 Boston, MA Matthews Arena - Athletics \$440,00 1 \$440,00 Boston, MA Millennium Park - Athletics \$440,00 4 \$1,760,00 Boston, MA Millennium Park - Athletics \$440,00 1 \$440,00 Boston, MA Millennium Park - Athletics \$440,00 1 \$440,00 Boston, MA Millennium Park - Athletics \$440,00 1 \$440,00 Boston, MA Museum of Fine Arts \$440,00 1 \$7,480,00 Boston, MA New England Aquarium \$440,00 17 \$7,480,00 Boston, MA New England Aquarium \$440,00 TBD TBD Boston, MA Regie Lewis \$440,00 TBD <td></td> <td></td> <td></td> <td></td> <td></td>					
Boston, MA				_	Total Cost
Boston, MA	Boston, MA	Freedom Trail, Bunker Hill, USS Constitution	\$440.00	TBD	TBD
Boston, MA	Boston, MA	Institute of Contemporary Art	\$440.00	TBD	TBD
Boston, MA Matthews Arena - Athletics \$440.00 1 \$440.00 Boston, MA Model UN \$440.00 1 \$440.00 Boston, MA Millennium Park - Athletics \$440.00 4 \$1,760.00 Boston, MA Minuteman National Park \$440.00 1 \$440.00 Boston, MA Museum of Fine Arts \$440.00 3 \$1,320.00 Boston, MA Museum of Science \$440.00 17 \$7,480.00 Boston, MA New England Aquarium \$440.00 4 \$1,760.00 Boston, MA North End \$440.00 TBD TBD Boston, MA Reggie Lewis \$440.00 8 \$3,520.00 Boston, MA Reggie Lewis \$440.00 TBD TBD Boston, MA State House \$440.00 TBD TBD Boston, MA State House \$440.00 TBD TBD Boston, MA Strand Theater \$440.00 1 \$440.00 Boston, MA Strand Theater \$440.00 </td <td>Boston, MA</td> <td>Logan Airport - Round Trip</td> <td>\$440.00</td> <td>5</td> <td>\$2,200.00</td>	Boston, MA	Logan Airport - Round Trip	\$440.00	5	\$2,200.00
Boston, MA Millennium Park - Athletics \$440.00 4 \$1,760.00 Boston, MA Minuteman National Park \$440.00 1 \$440.00 Boston, MA Museum of Fine Arts \$440.00 3 \$1,320.00 Boston, MA Museum of Science \$440.00 17 \$7,480.00 Boston, MA New England Aquarium \$440.00 4 \$1,760.00 Boston, MA North End \$440.00 8 \$3,520.00 Boston, MA Reggie Lewis \$440.00 8 \$3,520.00 Boston, MA State House \$440.00 1BD TBD Boston, MA State Street / Stock Mkt. Building \$440.00 1 \$440.00 Boston, MA Strand Theatre \$440.00 1 \$440.00 Boston, MA Strand Theatre \$440.00 TBD TBD Boston, MA Suffolk Superior Court \$440.00 TBD TBD Boston, MA Wheelock Family Theater \$440.00 TBD TBD Boston, MA Whe	Boston, MA	Matthews Arena - Athletics	\$440.00	1	\$440.00
Boston, MA	Boston, MA	Model UN	\$440.00	1	\$440.00
Boston, MA Minuteman National Park \$440.00 1 \$440.00 Boston, MA Museum of Fine Arts \$440.00 3 \$1,320.00 Boston, MA Museum of Science \$440.00 17 \$7,480.00 Boston, MA New England Aquarium \$440.00 4 \$1,760.00 Boston, MA North End \$440.00 TBD TBD Boston, MA Reggie Lewis \$440.00 8 \$3,520.00 Boston, MA State House \$440.00 1BD TBD Boston, MA State Street / Stock Mkt. Building \$440.00 1 \$440.00 Boston, MA Strand Theatre \$440.00 1 \$440.00 Boston, MA Strand Theatre \$440.00 1 \$440.00 Boston, MA Strand Theatre \$440.00 1BD TBD Boston, MA Wheelock Family Theater \$440.00 1BD TBD Boston, MA Wheelock Family Theater \$440.00 3 \$1,320.00 Boston, MA Wheelock Family T	Boston, MA	Millennium Park - Athletics	\$440.00	4	\$1,760.00
Boston, MA	Boston, MA	Minuteman National Park	\$440.00	1	\$440.00
Boston, MA	Boston, MA	Museum of Fine Arts	\$440.00	3	\$1,320.00
Boston, MA North End \$440.00 TBD TBD Boston, MA Reggie Lewis \$440.00 8 \$3,520.00 Boston, MA State House \$440.00 TBD TBD Boston, MA State Street / Stock Mkt. Building \$440.00 1 \$440.00 Boston, MA Strand Theatre \$440.00 1 \$440.00 Boston, MA Suffolk Superior Court \$440.00 TBD TBD Boston, MA Theater District \$440.00 TBD TBD Boston, MA Wheelock Family Theater \$440.00 3 \$1,320.00 Boston, MA World of Wheels \$440.00 1 \$440.00 Boston, MA World of Wheels \$440.00 1 \$440.00 Boxford, MA Masconomet Reg HS Athletic Facilities \$440.00 1 \$440.00 Bridgewater, MA Bridgewater-Raynham Reg HS Athletic Facilities \$440.00 1 \$440.00 Brockton, MA Brockton H.S. Athletic Facilities \$440.00 1 \$440.00	Boston, MA	Museum of Science	\$440.00	17	\$7,480.00
Boston, MA Reggie Lewis \$440.00 8 \$3,520.00	Boston, MA	New England Aquarium	\$440.00	4	\$1,760.00
Boston, MA	Boston, MA	North End	\$440.00	TBD	TBD
Boston, MA	Boston, MA	Reggie Lewis	\$440.00	8	\$3,520.00
Boston, MA State Street / Stock Mkt. Building \$440.00 1 \$440.00 Boston, MA Strand Theatre \$440.00 1 \$440.00 Boston, MA Suffolk Superior Court \$440.00 TBD TBD Boston, MA Theater District \$440.00 TBD TBD Boston, MA Wheelock Family Theater \$440.00 3 \$1,320.00 Boston, MA World of Wheels \$440.00 1 \$440.00 Boxford, MA Masconomet Reg HS Athletic Facilities \$440.00 1 \$440.00 Bridgewater, MA Bridgewater-Raynham Reg HS Athletic Facilities \$440.00 1 \$440.00 Brighton, MA Harry Parker Boathouse \$440.00 1 \$440.00 Brockton, MA Brockton H.S. Athletic Facilities \$440.00 1 \$440.00 Brookline, MA Brookline, MA Burlington H.S. Athletic Facilities \$440.00 1 \$440.00 City/Town Facility Rate/Trip # of Trips Cambridge, MA Cambridge Rindge & Latin Athletic Facilities \$440.00	Boston, MA	State House	\$440.00	TBD	TBD
Boston, MA Suffolk Superior Court \$440.00 TBD TBD Boston, MA Theater District \$440.00 TBD TBD Boston, MA Wheelock Family Theater \$440.00 3 \$1,320.00 Boston, MA World of Wheels \$440.00 1 \$440.00 Boxford, MA Masconomet Reg HS Athletic Facilities \$440.00 1 \$440.00 Bridgewater, MA Bridgewater-Raynham Reg HS Athletic Facilities \$440.00 1 \$440.00 Brighton, MA Harry Parker Boathouse \$440.00 1 \$440.00 Brockton, MA Brockton H.S. Athletic Facilities \$440.00 1 \$440.00 Brookline, MA Brookline H. S. Athletic Facilities \$440.00 1 \$440.00 Burlington, MA Burlington H.S. Athletic Facilities \$440.00 3 \$1,320.00 City/Town Facility Rate/Trip # of Trips Cambridge, MA Cambridge Rindge & Latin Athletic Facilities \$440.00 25 \$11,000.00 Cambridge, MA Harvard Museum of Natural History	Boston, MA	State Street / Stock Mkt. Building	\$440.00	1	\$440.00
Boston, MA Theater District \$440.00 TBD TBD Boston, MA Wheelock Family Theater \$440.00 3 \$1,320.00 Boston, MA World of Wheels \$440.00 1 \$440.00 Boxford, MA Masconomet Reg HS Athletic Facilities \$440.00 1 \$440.00 Bridgewater, MA Bridgewater-Raynham Reg HS Athletic Facilities \$440.00 1 \$440.00 Brighton, MA Harry Parker Boathouse \$440.00 1 \$440.00 Brockton, MA Brockton H.S. Athletic Facilities \$440.00 1 \$440.00 Brockline, MA Brookline H. S. Athletic Facilities \$440.00 1 \$440.00 Burlington, MA Burlington H.S. Athletic Facilities \$440.00 3 \$1,320.00 City/Town Facility Rate/Trip # of Trips Total Cost Cambridge, MA Cambridge Rindge & Latin Athletic Facilities \$440.00 2 \$11,000.00 Cambridge, MA Harvard Museum of Natural History \$440.00 1 \$440.00 Canton, MA <td< td=""><td>Boston, MA</td><td>Strand Theatre</td><td>\$440.00</td><td>1</td><td>\$440.00</td></td<>	Boston, MA	Strand Theatre	\$440.00	1	\$440.00
Boston, MA Wheelock Family Theater \$440.00 3 \$1,320.00 Boston, MA World of Wheels \$440.00 1 \$440.00 Boxford, MA Masconomet Reg HS Athletic Facilities \$440.00 1 \$440.00 Bridgewater, MA Bridgewater-Raynham Reg HS Athletic Facilities \$440.00 1 \$440.00 Brighton, MA Harry Parker Boathouse \$440.00 1 \$440.00 Brockton, MA Brockton H.S. Athletic Facilities \$440.00 1 \$440.00 Brookline, MA Brookline H. S. Athletic Facilities \$440.00 1 \$440.00 Burlington, MA Burlington H.S. Athletic Facilities \$440.00 3 \$1,320.00 City/Town Facility Rate/Trip # of Trips Cambridge, MA Cambridge Rindge & Latin Athletic Facilities \$440.00 25 \$11,000.00 Cambridge, MA Harvard Museum of Natural History \$440.00 1 \$440.00 Canton, MA Blue Hills Ski Area \$440.00 2 \$880.00 Carlisle, MA Carlisle Middle Sch	Boston, MA	Suffolk Superior Court	\$440.00	TBD	TBD
Boston, MA World of Wheels \$440.00 1 \$440.00 Boxford, MA Masconomet Reg HS Athletic Facilities \$440.00 1 \$440.00 Bridgewater, MA Bridgewater-Raynham Reg HS Athletic Facilities \$440.00 1 \$440.00 Brighton, MA Harry Parker Boathouse \$440.00 1 \$440.00 Brockton, MA Brockton H.S. Athletic Facilities \$440.00 1 \$440.00 Brookline, MA Brookline H. S. Athletic Facilities \$440.00 1 \$440.00 Burlington, MA Burlington H.S. Athletic Facilities \$440.00 3 \$1,320.00 City/Town Facility Rate/Trip # of Total Cost Trips Cambridge, MA Cambridge Rindge & Latin Athletic Facilities \$440.00 25 \$11,000.00 Cambridge, MA Harvard Museum of Natural History \$440.00 1 \$440.00 Canton, MA Blue Hills Ski Area \$440.00 2 \$880.00 Carlisle, MA Carlisle Middle School - Athletics \$440.00 2 \$880.00	Boston, MA	Theater District	\$440.00	TBD	TBD
Boston, MA World of Wheels \$440.00 1 \$440.00 Boxford, MA Masconomet Reg HS Athletic Facilities \$440.00 1 \$440.00 Bridgewater, MA Bridgewater-Raynham Reg HS Athletic Facilities \$440.00 1 \$440.00 Brighton, MA Harry Parker Boathouse \$440.00 1 \$440.00 Brockton, MA Brockton H.S. Athletic Facilities \$440.00 1 \$440.00 Brookline, MA Brookline H. S. Athletic Facilities \$440.00 1 \$440.00 Burlington, MA Burlington H.S. Athletic Facilities \$440.00 3 \$1,320.00 City/Town Facility Rate/Trip # of Trips Total Cost Trips Cambridge, MA Cambridge Rindge & Latin Athletic Facilities \$440.00 25 \$11,000.00 Cambridge, MA Harvard Museum of Natural History \$440.00 1 \$440.00 Canton, MA Blue Hills Ski Area \$440.00 2 \$880.00 Carlisle, MA Carlisle Middle School - Athletics \$440.00 2 \$880.00	Boston, MA	Wheelock Family Theater	\$440.00	3	\$1,320.00
Boxford, MA Masconomet Reg HS Athletic Facilities \$440.00 1 \$440.00 Bridgewater, MA Bridgewater-Raynham Reg HS Athletic Facilities \$440.00 1 \$440.00 Brighton, MA Harry Parker Boathouse \$440.00 1 \$440.00 Brockton, MA Brockton H.S. Athletic Facilities \$440.00 1 \$440.00 Brookline, MA Brookline H. S. Athletic Facilities \$440.00 1 \$440.00 Burlington, MA Burlington H.S. Athletic Facilities \$440.00 3 \$1,320.00 City/Town Facility Rate/Trip # of Total Cost Trips Cambridge, MA Cambridge Rindge & Latin Athletic Facilities \$440.00 25 \$11,000.00 Cambridge, MA Harvard Museum of Natural History \$440.00 1 \$440.00 Canton, MA Blue Hills Ski Area \$440.00 2 \$880.00 Carlisle, MA Carlisle Middle School - Athletics \$440.00 2 \$880.00	Boston, MA	World of Wheels	\$440.00		
Bridgewater, MA Bridgewater-Raynham Reg HS Athletic Facilities \$440.00 1 \$440.00 Brighton, MA Harry Parker Boathouse \$440.00 1 \$440.00 Brockton, MA Brockton H.S. Athletic Facilities \$440.00 1 \$440.00 Brookline, MA Brookline H. S. Athletic Facilities \$440.00 3 \$1,320.00 City/Town Facility Rate/Trip # of Trips Cambridge, MA Cambridge Rindge & Latin Athletic Facilities \$440.00 25 \$11,000.00 Cambridge, MA Harvard Museum of Natural History \$440.00 1 \$440.00 Canton, MA Blue Hills Ski Area \$440.00 2 \$880.00 Carlisle, MA Carlisle Middle School - Athletics \$440.00 2 \$880.00	Boxford, MA	Masconomet Reg HS Athletic Facilities		1	\$440.00
Brighton, MA Harry Parker Boathouse \$440.00 1 \$440.00 Brockton, MA Brockton H.S. Athletic Facilities \$440.00 1 \$440.00 Brookline, MA Brookline H. S. Athletic Facilities \$440.00 1 \$440.00 Burlington, MA Burlington H.S. Athletic Facilities \$440.00 3 \$1,320.00 City/Town Facility # of Trips Total Cost Trips Cambridge, MA Cambridge Rindge & Latin Athletic Facilities \$440.00 25 \$11,000.00 Cambridge, MA Harvard Museum of Natural History \$440.00 1 \$440.00 Canton, MA Blue Hills Ski Area \$440.00 2 \$880.00 Carlisle, MA Carlisle Middle School - Athletics \$440.00 2 \$880.00	Bridgewater, MA				
Brockton, MA Brockton H.S. Athletic Facilities \$440.00 1 \$440.00 Brookline, MA Brookline H. S. Athletic Facilities \$440.00 1 \$440.00 Burlington, MA Burlington H.S. Athletic Facilities \$440.00 3 \$1,320.00 City/Town Facility Rate/Trip # of Trips Trips Cambridge, MA Cambridge Rindge & Latin Athletic Facilities \$440.00 25 \$11,000.00 Cambridge, MA Harvard Museum of Natural History \$440.00 1 \$440.00 Canton, MA Blue Hills Ski Area \$440.00 2 \$880.00 Carlisle, MA Carlisle Middle School - Athletics \$440.00 2 \$880.00					
Brookline, MA Brookline H. S. Athletic Facilities \$440.00 1 \$440.00 Burlington, MA Burlington H.S. Athletic Facilities \$440.00 3 \$1,320.00 City/Town Facility Rate/Trip # of Trips Total Cost Cambridge, MA Cambridge Rindge & Latin Athletic Facilities \$440.00 25 \$11,000.00 Cambridge, MA Harvard Museum of Natural History \$440.00 1 \$440.00 Canton, MA Blue Hills Ski Area \$440.00 2 \$880.00 Carlisle, MA Carlisle Middle School - Athletics \$440.00 2 \$880.00	Brockton, MA	Brockton H.S. Athletic Facilities		1	1
Burlington, MA Burlington H.S. Athletic Facilities \$440.00 3 \$1,320.00 City/Town Facility Rate/Trip # of Trips Cambridge, MA Cambridge Rindge & Latin Athletic Facilities \$440.00 25 \$11,000.00 Cambridge, MA Harvard Museum of Natural History \$440.00 1 \$440.00 Canton, MA Blue Hills Ski Area \$440.00 2 \$880.00 Carlisle, MA Carlisle Middle School - Athletics \$440.00 2 \$880.00					
City/TownFacilityRate/Trip# of TripsCambridge, MACambridge Rindge & Latin Athletic Facilities\$440.0025\$11,000.00Cambridge, MAHarvard Museum of Natural History\$440.001\$440.00Canton, MABlue Hills Ski Area\$440.002\$880.00Carlisle, MACarlisle Middle School - Athletics\$440.002\$880.00		Burlington H.S. Athletic Facilities			-
Cambridge, MA Cambridge Rindge & Latin Athletic Facilities \$440.00 25 \$11,000.00 Cambridge, MA Harvard Museum of Natural History \$440.00 1 \$440.00 Canton, MA Blue Hills Ski Area \$40.00 2 \$880.00 Carlisle, MA Carlisle Middle School - Athletics \$440.00 2 \$880.00		Facility		# of	
Cambridge, MA Harvard Museum of Natural History \$440.00 1 \$440.00 Canton, MA Blue Hills Ski Area \$440.00 2 \$880.00 Carlisle, MA Carlisle Middle School - Athletics \$440.00 2 \$880.00	Cambridge, MA	Cambridge Rindge & Latin Athletic Facilities	\$440.00		\$11,000.00
Canton, MA Blue Hills Ski Area \$440.00 2 \$880.00 Carlisle, MA Carlisle Middle School - Athletics \$440.00 2 \$880.00	Cambridge, MA			1	
Carlisle, MA Carlisle Middle School - Athletics \$440.00 2 \$880.00	Canton, MA	Blue Hills Ski Area		2	•
	Carlisle, MA	Carlisle Middle School - Athletics			
	Carver, MA	Carver H.S. Athletic Facilities		1	

Charlemont, MA	Berkshire East Ski Area	Ć440.00	1	Ć440.00
Challerfiort, MA	Chelmsford H.S. Athletic Facilities	\$440.00 \$440.00	4	\$440.00 \$1,760.00
Chestnut Hill. MA	Boston College	\$440.00	1	\$1,760.00
Chestnut Hill, MA	Metropolitan Waterworks Museum	\$440.00	1	\$440.00
Concord, MA	Concord, MA	\$440.00	1	\$440.00
Concord, MA	Walden Pond	\$440.00	1	\$440.00
Concord, MA	Concord-Carlisle H.S. Athletic Facilities	\$440.00	25	\$11,000.00
Concord, MA	Concord-Carlisle HS	\$440.00	25	\$11,000.00
Danvers, MA	Danvers H.S. Athletic Facilities & St. John's Prep	\$440.00	3	\$1,320.00
Danvers, MA	Texas Roadhouse	\$440.00	1	\$1,520.00
Dedham, MA	Fox 25	\$440.00	1	\$440.00
Dorchester, MA	Franklin Park Zoo	\$440.00	2	\$880.00
Dorchester, MA	Franklin Park - Athletics	\$440.00	4	\$1,760.00
Dorchester, MA	IBEW Training Center	\$440.00	1	\$440.00
Dorchester, MA	JFK Library & Museum	\$440.00	TBD	TBD
Dorchester, MA	Murphy School - Athletics	\$440.00	2	\$880.00
Dracut, MA	Dracut H.S. Athletic Facilities	\$440.00	1	\$440.00
Dudley, MA	Shepherd Hill High School	\$440.00	1	\$440.00
Easton, MA	Oliver Ames	\$440.00	2	\$880.00
Everett, MA	Everett H.S.Athletic Facilities	\$440.00	1	\$440.00
City/Town	Facility	Rate/Trip	# of	Total Cost
City/Town	Facility	Kate/111p	# 01 Trips	Total Cost
Falmouth, MA	Falmouth H.S. Athletic Facilities	\$440.00	11105	\$440.00
Foxboro, MA	Foxboro H.S. Athletic Facilities	\$440.00	1	\$440.00
Foxboro, MA	Gillette Stadium	\$440.00	5	\$2,200.00
Framingham, MA	Framingham Disrtrict Court	\$440.00	1	\$440.00
Framingham, MA	Framingham H.S. Athletic Facilities	\$440.00	4	\$1,760.00
Framingham, MA	Framingham State	\$440.00	2	\$880.00
Framingham, MA	Wallmart	\$440.00	1	\$440.00
Franklin, MA	Franklin H.S. Athletic Facilities & MIAA	\$440.00	3	\$1,320.00
Franklin, MA	MIAA Leadership Conference	\$440.00	1	\$440.00
Gloucester, MA	Gloucester H.S. Athletic Facilities	\$440.00	1	\$440.00
Hanover, MA	Hanover H.S. Athletic Facilities	\$440.00	1	\$440.00
Haverhill, MA	Haverhill H.S. Athletic Facilities	\$440.00	2	\$880.00
Haverhill, MA	Haverhill Valley Forum - Athletics	\$440.00	2	\$880.00
Hingham, MA	Hingham H.S. Athletic Facilities & Notre Dame Academy	\$440.00	1	\$440.00
Hopkington, MA	Construction Facility	\$440.00	1	\$440.00
Lawrence, MA	Central Catholic H.S.	\$440.00	1	\$440.00
Lawrence, MA	Lawrence H.S. Athletic Facilities	\$440.00	1	\$440.00
Lawrence, MA	Lawrence Valley Arena	\$440.00	1	\$440.00
Lexington, MA	Clark Middle School -Athletics	\$440.00	6	\$2,640.00
Lexington, MA	Diamond Middle School - Athletics	\$440.00	6	\$2,640.00
Lexington, MA	Lexington H.S. Athletic Facilities	\$440.00	10	\$4,400.00
Lexington, MA	Lexington High School - MICA Festival	\$440.00	TBD	TBD
Lexington, MA	Lexington Symphony	\$440.00	TBD	TBD
Lexington, MA	Lexington, MA- Empowering Girls Conference	\$440.00	2	\$880.00
Lexington, MA	Liberty Ride - Lexington/Concord	\$440.00	TBD	TBD
City/Town	Facility	Rate/Trip	# of	Total Cost
City, Tollin	1 domey	nato, mp	Trips	101411 0001
Lincoln, MA	deCordova Museum	\$440.00	8	\$3,520.00
Lincoln, MA	Drumlin Farm	\$440.00	5	\$2,200.00
Lincoln, MA	Lincoln Middle School	\$440.00	4	\$1,760.00
Lowell, MA	Lowell H.S. Athletic Facilities	\$440.00	4	\$1,760.00
Lowell, MA	Lowell High School	\$440.00	2	\$880.00
Lowell, MA	Lowell Industrial Museum, Lowell	\$440.00	3	\$1,320.00
Lowell, MA	University of Massachusetts - Lowell	\$440.00	TBD	TBD
Lynn, MA	Theater Works USA	\$440.00	TBD	TBD
Malden, MA	Malden H.S. & Malden Catholic H.S. Athletic facilities & Mystic Valley Charter	\$440.00	4	\$1,760.00
Medford, MA	Medford H.S. Athletic Facilities	\$440.00	6	\$2,640.00
Melrose, MA	Melrose H.S. Athletic Facilities	\$440.00	1	\$440.00
Methuen, MA	Methuen H.S. Athletic Facilities	\$440.00	1	\$440.00
Millbury, MA	Carpenter's Taining Center	\$440.00	1	\$440.00

Milton, MA	Milton High School	\$440.00	1	\$440.00
Natick, MA	Natick H.S. Athletic Facilities	\$440.00	3	\$1,320.00
Needham, MA	Olin College	\$440.00	2	\$880.00
Newton, MA	Lasell College	\$440.00	1	\$440.00
Newton, MA	Newton North & Newton South H.S. Athletic Facilities	\$440.00	25	\$11,000.00
Newton, MA	Puzzle Break	\$440.00	1	\$440.00
North Andover, MA	North Andover H.S. Athletic Facilities	\$440.00	2	\$880.00
North Attleboro, MA	North Attleboro H.S. Athletic Facilities	\$440.00	1	\$440.00
Northborough, MA	Algonquin Reg . H. S.Athletic Facilities	\$440.00	2	\$880.00
Norwood, MA	Norwood H.S. Athletic Facilities	\$440.00	1	\$440.00
Norwood, MA	Universal Technical Institute	\$440.00	1	\$440.00
City/Town	Facility	Rate/Trip	# of Trips	Total Cost
Peabody, MA	Peabody Veteran's Mem. H.S & Bishop Fenwick H.S.	\$440.00	2	\$880.00
Plymouth, MA	Plimouth Plantation	\$440.00	3	\$1,320.00
Princeton, MA	Wachusetts Mountain	\$440.00	1	\$440.00
Reading , MA	Reading Mem. H.S. Athletic Facilities	\$440.00	3	\$1,320.00
Revere, MA	Revere H.S. Athletic Facilities	\$440.00	1	\$440.00
Salem, NH	Salem Ice Center (Central Catholic Hockey)	\$440.00	2	\$880.00
Salem, MA	Salem, MA	\$440.00	2	\$880.00
Shrewsbury, MA	St. John's High School Athletic Facilities	\$440.00	1	\$440.00
Shrewsbury, MA	Ski Ward Hill Area	\$440.00	1	\$440.00
Somerset, MA	Somerset High School	\$440.00	1	\$440.00
Somerville, MA	Legoland Discovery Center	\$440.00	3	\$1,320.00
Somerville, MA	Somerville H.S. Athletic Facilities	\$440.00	4	\$1,760.00
Stoneham, MA	Stone Zoo	\$440.00	2	\$880.00
Stoneham, MA	Stoneham H.S. Athletics Facilities	\$440.00	1	\$440.00
Stoneham, MA	Stoneham Ice Arena - Athletics	\$440.00	2	\$880.00
Stow, MA	Honey Pot Hill Orchard	\$440.00	2	\$880.00
Stow, MA	Shelburne Farms	\$440.00	1	\$440.00
Sudbury, MA	Lincoln-Sudbury Reg. H.S. Athletic Facilities in Sudbury/ Concord	\$440.00	25	\$11,000.00
Sudbury, MA	Curtis Middle School - Athletics	\$440.00	4	\$1,760.00
Tewksbury, MA	Tewksbury H.S. Athletic Facilities	\$440.00	1	\$440.00
Tyngsboro, MA	Tyngsboro HS Athletic Facilities	\$440.00	1	\$440.00
Wakefield, MA	Wakefield H.S. Athletic Facilities	\$440.00	1	\$440.00
Waltham, MA	Intra-Waltham Travel	\$440.00	51	\$22,440.00
Watertown, MA	Watertown H.S. Athletic Facilities	\$440.00	6	\$2,640.00
Watertown, MA	Watertown Middle School - Athletics	\$440.00	4	\$1,760.00
City/Town	Facility	Rate/Trip	# of Trips	Total Cost
Wayland , MA	Wayland H.S. Athletic Facilities	\$440.00	25	\$11,000.00
Wayland, MA	Wayland Middle School - Athletics	\$440.00	4	\$1,760.00
Wellesley, MA	Mass Bay Community College	\$440.00	1	\$440.00
Wellesley, MA	Wellesley H.S. Athletic Facilities	\$440.00	3	\$1,320.00
West Roxbury, MA	Catholic Memorial Athletic Facilities	\$440.00	2	\$880.00
Westford, MA	Butterfly Museum	\$440.00	TBD	TBD
Westford, MA	Westford Academy Athletic Facilities & Nashoba Valley Ski Area	\$440.00	20	\$8,800.00
Weston, MA	Land Sake Farm	\$440.00	1	\$440.00
Weston, MA	Weston H.S. Athletic Facilities	\$440.00	25	\$11,000.00
Westwood, MA	Xaverian Bros High School Athletic Facilities	\$440.00	1	\$440.00
Weymouth, MA	Weymouth H.S. Athletic Facilities	\$440.00	1	\$440.00
Wilmington, MA	Wilmington H.S. Athletic Facilities	\$440.00	1	\$440.00
Winchester, MA	Winchester H.S. Athletic Facilities/School	\$440.00	4	\$1,760.00
Woburn, MA	Woburn H.S. Athletic Facilities	\$440.00	3	\$1,700.00
		Ç440.00	J	71,320.00
	TOTAL ANNUAL COST BASED ON GIVEN ESTIMATES OF APPEND Extra-curricular Athletic/Field Trip Transportation Worksheet	IX C	_	\$278,960.00